φ-Recurrent Sasakian Finsler Structures

Nesrin Çalışkan* and Ayse Funda Sağlamer

(Communicated by H. Hilmi Hacısalihoğlu)

Abstract

In this paper, ϕ -recurrent Sasakian Finsler structures on horizontal and vertical tangent bundle diffusions and their various geometric properties are studied.

Keywords: ϕ -recurrent; ϕ -symmetric; sectional curvature; Ricci tensor; tangent bundle. AMS Subject Classification (2010): Primary:53D15; Secondary: 53C05; 53C15; 53C60

1. Introduction

The notion of locally symmetry is a strong notion in contact geometry, so it is weakened such as semisymmetric, recurrent, pseudo-symmetric, weakly symmetric, locally ϕ -symmetric cases. In this regard, some conditions for ϕ -recurrency of several manifolds are obtained. De et al. [3] studied the notion of ϕ -recurrency in the sense of Takahashi for Sasakian manifolds in [7]. Additionally, De et al. [4] and Peyghan et al. [5] have studies for this notion defined for Kenmotsu manifolds and contact metric manifolds, respectively. In Prakash's paper [6], ϕ -recurrency is discussed via concircular curvature tensor for para-Sasakian manifolds. In this paper, *φ*-recurrent Sasakian Finsler structures on tangent bundle diffusions are studied.

2. Preliminaries

Suppose M be an m = (2n + 1)-dimensional smooth manifold. Besides, $x = (x^1, \ldots, x^m)$ are the local coordinates of M, T_xM is an m-dimensional tangent space at $x \in M$ and $y = y^i \frac{\partial}{\partial x^i} \in T_xM$. So, TM denotes 2*m*-dimensional tangent bundle of *M* and $u = (x, y) \in TM$.

If $F: TM \to [0, \infty]$ is a Finsler function with the following properties;

- 1. *F* is C^{∞} on slit tangent bundle,
- 2. $F(x^i, \lambda y^i) = \lambda, F(x^i, y^i)$ for $\lambda > 0$,

3. The $n \times n$ Hessian $g_{ij}(x, y) = \frac{1}{2} \left[\frac{\partial^2 F^2}{\partial y^i \partial y^j} \right]$ is positive definite on slit tangent bundle,

then $F^m = (M, F)$ is called a Finsler manifold and g is a Finsler metric tensor with g_{ij} coefficients [2].

The bundle projection $\pi: TM \to M$ and its differential map $\pi: T_uTM \to T_{\pi(u)}M$ satisfy the transformations $u = (x^1, \dots, x^m, y^1, \dots, y^m) \mapsto (x^1, \dots, x^m)$ and $X_u \mapsto \pi_*(X_u)$, respectively. Hence, the vertical subbundle VTMis derived from $ker(\pi_*)$. The horizontal subbundle $HTM = (N_i^j(x, y))$ is a non-linear connection on TM where $N_i^j = \frac{\partial N^j}{\partial y^i}$ are obtained by using spray coefficients $N^j = \frac{1}{4}g^{jk}(\frac{\partial^2 F^2}{\partial y^k \partial x^h}y^h - \frac{\partial F^2}{\partial x^k})$. Provided that ∇ is the linear connection on the vertical tangent bundle distribution VTM, the pair (HTM, ∇)

is called a Finsler connection on *M* [1].

For $X \in T_uTM$ and $X = X^i(\frac{\partial}{\partial x^i} - N_i^j(x, y)\frac{\partial}{\partial y^j}) + (N_i^j(x, y)X^i + X^j)\frac{\partial}{\partial y^j} = X^i\frac{\delta}{\delta x^i} + X^j\frac{\partial}{\partial y^j}$ is obtained. Here, $\frac{\delta}{\delta x^i}$ and $\frac{\partial}{\partial y^j}$ are the bases of T_u^HTM and T_u^VTM at $u \in TM$, respectively and their dual bases are dx^i and $\delta y^j = dy^j + N_i^j dx^i$, respectively. The complementary distributions *HTM* and *VTM* consist of the base spaces H_{TM} and V_{TM} and their tangent spaces $T_u^H TM$ and $T_u^V TM$ at $u \in TM$, respectively where $T_u TM = T_u^H TM \oplus T_u^V TM$.

Received: 29-10-2017, Accepted: 06-09-2018

^{*} Corresponding author

By decomposing $\eta = \eta_i dx^i + \eta_j \delta y^j \in (T_u TM)^*$ to horizontal and vertical parts, it is possible to have $\eta^H \in (T_u^H TM)^*$ and $\eta^V \in (T_u^V TM)^*$.

The Sasaki-Finsler metric G on TM is defined as follows:

$$G(X,Y) = G(X^H, Y^H) + G(X^V, Y^V)$$

where $X, Y \in T_uTM$ and their horizontal and vertical lifts $X^H, Y^H \in T_u^HTM$ and $X^V, Y^V \in T_u^VTM$. Let $(\phi^H, \xi^H, \eta^H, G^H)$ and $(\phi^V, \xi^V, \eta^V, G^V)$ be *m*-dimensional Sasakian structures on H_{TM} and on V_{TM} , respectively. Then following relations hold for Sasakian Finsler structures on H_{TM} and V_{TM} where $X^{H}, Y^{H}, Z^{H} \in T_{u}^{H}TM$ and $X^{V}, Y^{V}, Z^{V} \in T_{u}^{V}TM$, ξ is the Reeb vector field of type $\begin{pmatrix} 0 & 0 \\ 1 & 1 \end{pmatrix}$, η is the 1-form of type $\begin{pmatrix} 1 & 1 \\ 0 & 0 \end{pmatrix}$, *G* is the Finsler metric structure of type $\begin{pmatrix} 0 & 0 \\ 2 & 2 \end{pmatrix}$, ϕ denotes the tensor field of type $\begin{pmatrix} 1 & 1 \\ 1 & 1 \end{pmatrix}$, *N* is the Nijenhuis tensor field of the Sasakian Finsler structure on *TM*, Ω is the fundamental 2-form, ∇ is the Finsler connection with respect to G on TM, L is the Lie differential operator, R is the Riemann curvature tensor field of type $\begin{pmatrix} 1 & 1 \\ 3 & 3 \end{pmatrix}$, K is the ϕ -sectional curvature, S is the Ricci tensor field of type $\begin{pmatrix} 0 & 0 \\ 2 & 2 \end{pmatrix}$ [9].

$$\phi.\phi = -I + \eta^H \otimes \xi^H + \eta^V \otimes \xi^V \tag{2.1}$$

$$\phi \xi^H = \phi \xi^V = 0 \tag{2.2}$$

$$\eta^{H}(\xi^{H}) = \eta^{V}(\xi^{V}) = 1$$
(2.3)

$$\eta^{H}(\phi X^{H}) = 0, \eta^{V}(\phi X^{V}) = 0, \eta^{H}(\phi X^{V}) = 0$$
(2.4)

$$\Omega(X^{H}, Y^{H}) = 2(\nabla_{X}^{H}\eta)(Y^{H}) = -2(\nabla_{Y}^{H}\eta)(X^{H}), \\ \Omega(X^{V}, Y^{V}) = 2(\nabla_{X}^{V}\eta)(Y^{V}) = -2(\nabla_{Y}^{V}\eta)(X^{V})$$
(2.5)

$$G^{H}(\phi X, \phi Y) = G^{H}(X, Y) - \eta^{H}(X^{H})\eta^{H}(Y^{H}), G^{V}(\phi X, \phi Y) = G^{V}(X, Y) - \eta^{V}(X^{V})\eta^{V}(Y^{V})$$
(2.6)

$$G^{H}(X,\xi) = \eta^{H}(X^{H}), G^{V}(X,\xi) = \eta^{V}(X^{V})$$
(2.7)

$$G^{H}(\phi X, Y) = -G^{H}(X, \phi Y), G^{V}(\phi X, Y) = -G^{V}(X, \phi Y)$$
(2.8)

$$N_{\phi} + d\eta^H \otimes \xi^H + d\eta^V \otimes \xi^V = 0$$
(2.9)

$$\nabla^H_{\xi}\phi = 0, \nabla^V_{\xi}\phi = 0 \tag{2.10}$$

$$\nabla_X^H \xi^H = -\frac{1}{2} \phi X^H, \\ \nabla_X^V \xi^V = -\frac{1}{2} \phi X^V$$
(2.11)

$$(\nabla_X^H \phi)Y^H = \frac{1}{2} [G^H (X^H, Y^H)\xi^H - \eta^H (Y^H)X^H], (\nabla_X^V \phi)Y^V = \frac{1}{2} [G^V (X^V, Y^V)\xi^V - \eta^V (Y^V)X^V]$$
(2.12)

$$R(X^{H}, Y^{H})\xi^{H} = \frac{1}{4} [\eta^{H}(Y^{H})X^{H} - \eta^{H}(X^{H})Y^{H}], R(X^{V}, Y^{V})\xi^{V} = \frac{1}{4} [\eta^{V}(Y^{V})X^{V} - \eta^{V}(X^{V})Y^{V}]$$
(2.13)

$$R(X^{H},\xi^{H})Y^{H} = \frac{1}{4}[\eta^{H}(Y^{H})X^{H} - G^{H}(X,Y)\xi^{H}], R(X^{V},\xi^{V})Y^{V} = \frac{1}{4}[\eta^{V}(Y^{V})X^{V} - G^{V}(X,Y)\xi^{V}]$$
(2.14)

$$R(X^{H}, Y^{H})Z^{H} = \frac{1}{4}[G(Z^{H}, Y^{H})X^{H} - G(Z^{H}, X^{H})Y^{H}], R(X^{V}, Y^{V})Z^{V} = \frac{1}{4}[G(Z^{V}, Y^{V})X^{V} - G(Z^{V}, X^{V})Y^{V}]$$
(2.15)

$$K(X^{H}, Y^{H}) = G(R(X^{H}, Y^{H})Y^{H}, X^{H}) = \frac{1}{4}, K(X^{V}, Y^{V}) = G(R(X^{V}, Y^{V})Y^{V}, X^{V}) = \frac{1}{4}$$
(2.16)

$$S(\xi^{H},\xi^{H}) = \frac{n}{2}, S(\xi^{V},\xi^{V}) = \frac{n}{2}$$
(2.17)

$$S(X^{H},\xi^{H}) = \frac{n}{2}\eta^{H}(X^{H}), S(X^{V},\xi^{V}) = \frac{n}{2}\eta^{V}(X^{V})$$
(2.18)

$$S(\phi X^{H}, \phi Y^{H}) = S(X^{H}, Y^{H}) - \frac{n}{2}\eta^{H}(X^{H})\eta^{H}(Y^{H}), \\ S(\phi X^{V}, \phi Y^{V}) = S(X^{V}, Y^{V}) - \frac{n}{2}\eta^{V}(X^{V})\eta^{V}(Y^{V})$$
(2.19)

However Sasakian Finsler structures can be founded both on horizontal and vertical tangent bundle diffusions (H_{TM} and V_{TM}), in this paper; it is studied on H_{TM} , for briefness.

Definition 2.1. A Sasakian Finsler structure $(\phi^H, \xi^H, \eta^H, G^H)$ on H_{TM} is locally ϕ -symmetric if and only if

$$\phi^2((\nabla^H_w R)(X^H, Y^H)Z^H) = 0$$
(2.20)

for $X^H, Y^H, Z^H, W^H \in T^H_u TM$.

Definition 2.2. A Sasakian Finsler structure $(\phi^H, \xi^H, \eta^H, G^H)$ on H_{TM} is locally ϕ - recurrent if there exists a 1-form $A(\neq 0)$ such that

$$\phi^{2}((\nabla^{H}_{w}R)(X^{H},Y^{H})Z^{H}) = A^{H}(W^{H})R(X^{H},Y^{H})Z^{H}$$
(2.21)

for $X^H, Y^H, Z^H, W^H \in T_u^H TM$.

3. ϕ -recurrent Sasakian Finsler Structures on H_{TM}

Theorem 3.1. Suppose that H_{TM} have a ϕ -recurrent Sasakian Finsler structure. Then H_{TM} is Einstein.

Proof. Let H_{TM} be a ϕ -recurrent Sasakian Finsler manifold. By the virtue of (2.1) and (2.21) we have

$$-(\nabla^{H}_{W}R)(X^{H}, Y^{H})Z^{H} + \eta^{H}((\nabla^{H}_{W}R)(X^{H}, Y^{H})Z^{H})\xi^{H} = A^{H}(W^{H})R(X^{H}, Y^{H})Z^{H}$$
(3.1)

Inserting *G* to the above relation we have

 $-G((\nabla_{W}^{H}R)(X^{H}, Y^{H})Z^{H}, U^{H}) + \eta^{H}((\nabla_{W}^{H}R)(X^{H}, Y^{H})Z^{H})\eta^{H}(U^{H}) = A^{H}(W^{H})G(R(X^{H}, Y^{H})Z^{H}, U^{H}).$ (3.2)

Let $\{E_i^H\}$, i = 1, 2, ..., 2n + 1, be the orthonormal basis of $T_u^H TM$. Then putting $X^H = U^H = E_i^H$ and taking summation over $i, 1 \le i \le 2n + 1$, we get

$$-(\nabla_{W}^{H}S)(Y^{H}, Z^{H}) + \sum_{i=1}^{2n+1} \eta^{H}((\nabla_{W}^{H}R)(E_{i}^{H}, Y^{H})Z^{H})\eta^{H}(E_{i}^{H}) = A^{H}(W^{H})S(Y^{H}, Z^{H})$$
(3.3)

By putting $Z^H = \xi^H$ in the second term of first part of (3.3), we have the following: $\sum_{i=1}^{2n+1} \eta^H ((\nabla^H_W R)(E^H_i, Y^H)Z^H) \eta^H(E^H_i) = G((\nabla^H_W R)(E^H_i, Y^H)\xi^H, \xi^H)G(E^H_i, \xi^H)$

which is equivalent to

$$G((\nabla_{W}^{H}R)(E_{i}^{H},Y^{H})\xi^{H},\xi^{H}) = G((\nabla_{W}^{H}R)(E_{i}^{H},Y^{H})\xi^{H},\xi^{H}) - G((\nabla_{W}^{H}E_{i}^{H},Y^{H})\xi^{H},\xi^{H}) - G(R(E_{i}^{H},\nabla_{W}^{H}Y^{H})\xi^{H},\xi^{H}) - G(R(E_{i}^{H},Y^{H})\nabla_{W}^{H}\xi^{H},\xi^{H})$$
(3.4)

Owing to the fact that E_i^H is the orthonormal basis, it is easily seen that $\nabla_W^H E_i^H = 0$. By virtue of (2.13) we have
$$\begin{split} G(R(E_i^H, \nabla_W^H Y^H)\xi^H, \xi^H) &= \frac{1}{4}G([\eta^H (\nabla_W^H Y^H)E_i^H - \eta^H (E_i^H)\nabla_W^H Y^H], \xi^H) \\ &= \frac{1}{4}[G(\nabla_W^H Y^H, \xi^H)G(E_i^H, \xi^H) - G(E_i^H, \xi^H)G(\nabla_W^H Y^H, \xi^H)] = 0. \end{split}$$

By using these equalities, second and third terms of the right part of (3.4) vanish. Hence we can state the following:

$$G((\nabla_{W}^{H}R)(E_{i}^{H},Y^{H})\xi^{H},\xi^{H}) = G((\nabla_{W}^{H}R)(E_{i}^{H},Y^{H})\xi^{H},\xi^{H}) - G(R(E_{i}^{H},Y^{H})\nabla_{W}^{H}\xi^{H},\xi^{H}).$$
(3.5)

Due to
$$G((\nabla^H_W R)(E^H_i, Y^H)\xi^H, \xi^H) + G(R(E^H_i, Y^H)\xi^H, \nabla^H_W \xi^H) = 0$$
, we can denote (3.5) as follows:

$$G((\nabla_{W}^{H}R)(E_{i}^{H},Y^{H})\xi^{H},\xi^{H}) = -G((R)(E_{i}^{H},Y^{H})\xi^{H},\nabla_{W}^{H}\xi^{H}) - G(R(E_{i}^{H},Y^{H})\xi^{H},\nabla_{W}^{H}\xi^{H}) = 0.$$

In consequence of these calculations and by replacing $Z^{H} = \xi^{H}$, (3.3) can be expressed by the following relation:

$$-(\nabla_{W}^{H}S)(Y^{H}, Z^{H}) = A^{H}(W^{H})S(Y^{H}, Z^{H}) = A^{H}(W^{H})\frac{n}{2}\eta^{H}(Y^{H}).$$
(3.6)

Using (2.11) and (2.18) in $(\nabla^H_W S)(Y^H, Z^H) = \nabla^H_W (S(Y^H, \xi^H)) - S(\nabla^H_W Y^H, \xi^H) - S(\nabla^H_W Y^H, \nabla^H_W \xi^H)$ we obtain

$$(\nabla_W^H S)(Y^H, Z^H) = \frac{n}{4} G(W, \phi Y^H) + \frac{1}{2} S(Y^H, \phi W^H).$$
(3.7)

By virtue of (3.6) and (3.7) we have

$$-A^{H}(W^{H})\frac{n}{2}\eta^{H}(Y^{H}) = \frac{n}{4}G(W,\phi Y^{H}) + \frac{1}{2}S(Y^{H},\phi W^{H}).$$
(3.8)

By putting $Y^H = \phi Y^H$ in (3.8) we get $S(Y^H, W^H) = \frac{n}{2}G(Y^H, W^H)$ for all $Y^H, W^H \in T_u^H TM$.

Corollary 3.1. A ϕ -recurrent Sasakian Finsler manifold $(H_{TM}, \phi^H, \xi^H, \eta^H, G^H)$ is an Einstein manifold such that the Ricci tensor S is proportional to the Sasaki Finsler metric tensor: $S(Y^H, W^H) = \frac{n}{2}G(Y^H, W^H) \in Sym^2(T_u^HTM)$ for all $Y^H, W^H \in T_u^HTM$ by a proportionality constant $\frac{n}{2} \in \mathbb{R}$.

Theorem 3.2. Assume that $(H_{TM}, \phi^H, \xi^H, \eta^H, G^H)$ be a (2n + 1)-dimensional (n > 1) ϕ -recurrent Sasakian Finsler manifold, then we have the following relation:

$$A^{H}(W^{H}) = \eta^{H}(W^{H})\eta^{H}(p^{H}).$$
(3.9)

where $W^H, p^H \in T_u^H TM$ and $A^H \in (T_u^H TM)$ with the property of $A^H(\xi^H) = G(\xi^H, p^H)\eta^H(p^H)$.

Proof. By using (2.1) in (2.21) we obtain

$$(\nabla^{H}_{W}R)(X^{H}, Y^{H})Z^{H} + \eta^{H}(\nabla^{H}_{W}R(X^{H}, Y^{H})Z^{H})\xi^{H} = A^{H}(W^{H})R(X^{H}, Y^{H})Z^{H}.$$
(3.10)

Taking inner product of (3.10) with ξ^{H} and using the Bianchi identity which is given in the following line;

$$(\nabla^{H}_{W}R)(X^{H}, Y^{H})Z^{H} + (\nabla^{H}_{Y}R)(W^{H}, X^{H})Z^{H} + (\nabla^{H}_{W}R)(Y^{H}, W^{H})Z^{H} = 0,$$

it is possible to have

$$A^{H}(W^{H})G(R(X^{H}, Y^{H})Z^{H}, \xi^{H}) = A^{H}(W^{H})\eta^{H}(R(X^{H}, Y^{H})Z^{H}) = 0$$
(3.11)

Similarly, we have the following relations:

$$A^{H}(Y^{H})\eta^{H}(R(W^{H}, X^{H})Z^{H}) = 0$$
(3.12)

$$A^{H}(X^{H})\eta^{H}(R(Y^{H}, W^{H})Z^{H}) = 0$$
(3.13)

In consequence of these calculations we obtain

$$A^{H}(W^{H})\eta^{H}(R(X^{H},Y^{H})Z^{H}) + A^{H}(Y^{H})\eta^{H}(R(W^{H},X^{H})Z^{H}) + A^{H}(X^{H})\eta^{H}(R(Y^{H},W^{H})Z^{H}) = 0$$
(3.14)

If we use relation (2.15) in each terms for Riemannian curvature tensor in (3.14), we get

$$\frac{1}{4} [A^{H}(W^{H})[G(Y^{H}, Z^{H})\eta^{H}(X^{H}) - G(X^{H}, Z^{H})\eta^{H}(Y^{H})] + A^{H}(Y^{H})[G(W^{H}, Z^{H})\eta^{H}(Y^{H}) - G(Y^{H}, Z^{H})\eta^{H}(W^{H})] + A^{H}(X^{H})[G(X^{H}, Z^{H})\eta^{H}(W^{H}) - G(W^{H}, Z^{H})\eta^{H}(X^{H})]] = 0$$
(3.15)

By putting $Y^H = Z^H = E_i^H$ in (3.15) we have

$$A^H(W^H)\eta^H(X^H) = A^H(X^H)\eta^H(W^H)$$

By replacing $X^H = \xi^H$, we find

$$A^H(W^H) = \eta^H(P^H)\eta^H(W^H)$$

Theorem 3.3. Suppose $(H_{TM}, \phi^H, \xi^H, \eta^H, G^H)$ be a (2n + 1)- dimensional (n > 1) ϕ -recurrent Sasakian Finsler manifold, then it is of constant curvature where $X^H, Y^H \in T_u^H TM$.

Proof. With the help of (2.5), (2.11) and (2.13), it is possible to get the below relation:

$$(\nabla_{W}^{H}R)(X^{H}, Y^{H})\xi^{H} = \nabla_{W}^{H}(R(X^{H}, Y^{H})\xi^{H}) - R(\nabla_{W}^{H}X^{H}, Y^{H})\xi^{H} - R(X^{H}, \nabla_{W}^{H}Y^{H})\xi^{H} - R(X^{H}, Y^{H})\nabla_{W}^{H}\xi^{H}$$
(3.16)

By using (2.11) and (2.13) in (3.16), we have

$$(\nabla_W^H R)(X^H, Y^H)\xi^H = \frac{1}{4} \left[\frac{1}{2} \{G(W^H, \phi Y^H)X^H - G(W^H, \phi X^H)Y^H\}\right] + \frac{1}{2}R(X^H, Y^H)\phi W^H$$
(3.17)

Taking inner product of (3.17) with ξ^H , we have the following:

$$G((\nabla_{W}^{H}R)(X^{H}, Y^{H})\xi^{H}, \xi^{H}) = \frac{1}{8}G(W^{H}, \phi Y^{H})G(X^{H}, \xi^{H}) - \frac{1}{8}G(W^{H}, \phi X^{H})G(Y^{H}, \xi^{H}) + \frac{1}{2}G(R(X^{H}, Y^{H})\phi W^{H}, \xi^{H})$$
(3.18)

because of, $\eta^H(X^H) = 0$ and $\eta^H(Y^H) = 0$ for $X^H, Y^H \in T_u^H TM$, so we can calculate (3.17) in the following way:

$$(\eta^{H}(\nabla^{H}_{W}R)(X^{H}, Y^{H})\xi^{H}) = 0.$$
(3.19)

If we use the following equality in (3.17) [8],

$$R(X^{H}, Y^{H})\phi W^{H} = \phi R(X^{H}, Y^{H})Z^{H} + \frac{1}{4} \{ G(\phi X^{H}, W^{H})Y^{H} - G(Y^{H}, W^{H})\phi X^{H} + G(X^{H}, W^{H})\phi Y^{H} - G(\phi Y^{H}, W^{H})X^{H} \}$$

we have

$$(\nabla_W^H R)(X^H, Y^H)\xi^H = \frac{1}{2}[\phi R(X^H, Y^H)W^H + \frac{1}{4}\{G(X^H, W^H)\phi Y^H - G(Y^H, W^H)\phi X^H\}].$$
(3.20)

By replacing $Z^H = \xi^H$ in (3.1), we get

$$(\nabla_{W}^{H}R)(X^{H}, Y^{H})\xi^{H} = -A^{H}(W^{H})R(X^{H}, Y^{H})\xi^{H}.$$
(3.21)

From the equations (3.20) and (3.21), we obtain

$$\begin{array}{l} \frac{1}{2} \{ \phi R(X^{H},Y^{H})W^{H} + \frac{1}{4} [G(X^{H},W^{H})\phi Y^{H} - G(Y^{H},W^{H})\phi X^{H}] \} = \\ \eta^{H}(W^{H})\eta^{H}(W^{H}) \{ \frac{1}{4} [\eta^{H}(p^{H})X^{H} - \eta^{H}(X^{H})Y^{H}] \}. \end{array}$$

Here, $\eta^H(X^H) = 0$ and $\eta^H(Y^H) = 0$. This means:

$$\phi R(X^H, Y^H)W^H = \frac{1}{4} \{ -G(X^H, W^H)\phi Y^H + G(Y^H, W^H)\phi X^H \}.$$

By applying ϕ to the last equation, we have the following relation that means H_{TM} is of constant curvature:

$$R(X^{H}, Y^{H})W^{H} = \frac{1}{4} \{ G(Y^{H}, W^{H})X^{H} - G(X^{H}, W^{H})Y^{H} \}$$

$$(3.22)$$

In addition, by the virtue of (3.1), we find

$$(\nabla_{W}^{H}R)(X^{H}, Y^{H})Z^{H} = -A^{H}(W^{H})R(X^{H}, Y^{H})Z^{H} + \frac{1}{2}\{G(\phi R(X^{H}, Y^{H})W^{H}, Z^{H}) + \frac{1}{4}[G(X^{H}, W^{H})G(\phi Y^{H}, Z^{H})G(Y^{H}, W^{H})G(\phi X^{H}, Z^{H})]\}\xi^{H}.$$
(3.23)

So, it is possible to have the below corollary:

Corollary 3.2. Let $(H_{TM}, \phi^H, \xi^H, \eta^H, G^H)$ be a (2n + 1)-dimensional $(n > 1) \phi$ -recurrent Sasakian Finsler manifold then the relation (3.23) holds.

$$\begin{split} & \phi^2((\nabla^H_W R)(X^H, Y^H)Z^H) = \\ A^H(W^H)R(X^H, Y^H)Z^H - (\eta^H(\nabla^H_W R)(X^H, Y^H)\xi^H) + (\eta^H(\nabla^H_W R)(X^H, Y^H)\xi^H) - A^H(W^H)\eta^H(R(X^H, Y^H)Z^H) \\ &= A^H(W^H)R(X^H, Y^H)Z^H - \frac{1}{4}A^H(W^H)\{G(Y^H, Z^H)\eta^H(X^H) - G(X^H, Z^H)\eta^H(Y^H)\}\xi^H. \end{split}$$

Namely, the following relation is found

$$\phi^2((\nabla^H_W R)(X^H, Y^H)Z^H) = A^H(W^H)R(X^H, Y^H)Z^H$$

which enables to get following corollary:

Corollary 3.3. Assume $(H_{TM}, \phi^H, \xi^H, \eta^H, G^H)$ be a (2n + 1)-dimensional (n > 1) ϕ -recurrent Sasakian Finsler manifold that satisfies the relation (3.23) then it is ϕ -recurrent.

Theorem 3.4. Suppose $(H_{TM}, \phi^H, \xi^H, \eta^H, G^H)$ be a (2n + 1)-dimensional (n > 1) ϕ -recurrent Sasakian Finsler manifold then there is a non-zero constant sectional curvature of it and it is locally ϕ -symmetric.

Proof. If we suppose that $\pi = Sp\{X^H, Y^H\}$ and $X^H, Y^H \in T_u^H TM$ so $\pi \in T_u^H TM$, in this case we have $K(\pi) = G(R(X^H, Y^H)Y^H, X^H) = \lambda$, here λ is a non-zero constant and X^H, Y^H are orthonormal basis of π . Then we have

$$G((\nabla_{Z}^{H}R)(X^{H}, Y^{H})Y^{H}, X^{H}) = 0$$

$$G((\nabla_{Z}^{H}R)(X^{H}, Y^{H})Y^{H}, \xi^{H}) = \eta^{H}((\nabla_{Z}^{H}R)(X^{H}, Y^{H})Y^{H})\eta^{H}(\xi^{H}) - A^{H}(Z^{H})G(R(X^{H}, Y^{H})Y^{H}, \xi^{H})$$

$$G((\nabla_{Z}^{H}R)(X^{H}, Y^{H})Y^{H}, \xi^{H})\eta^{H}(X^{H}) = G((\nabla_{Z}^{H}R)(X^{H}, Y^{H})Y^{H}, X^{H}) - A^{H}(Z^{H})G(R(X^{H}, Y^{H})Y^{H}, \xi^{H})$$

$$\eta^{H}(X^{H})[\frac{1}{8}\{G(Y^{H}, Z^{H})G(\phi X^{H}, Y^{H}) - G(X^{H}, Z^{H})G(\phi Y^{H}, Y^{H})\} - \frac{1}{2}G(\phi R(X^{H}, Y^{H})Z^{H}, Y^{H}) - A^{H}(Z^{H})G(R(X^{H}, Y^{H})Y^{H}, \xi^{H})] = -\lambda A^{H}(\xi^{H})$$

$$(3.24)$$

By replacing $Z^H = \xi^H$ in the last relation, we get

$$\begin{split} \eta^{H}(p^{H})[G(Y^{H},Y^{H})\eta^{H}(X^{H}) - G(X^{H},Y^{H})\eta^{H}(Y^{H})] &= -\lambda \eta^{H}(p^{H}),\\ \eta^{H}(p^{H})[\frac{1}{4}\{G(Y^{H},Y^{H})\eta^{H}(X^{H}) - G(X^{H},Y^{H})\eta^{H}(Y^{H})\}] - \lambda = 0,\\ \eta^{H}(p^{H}) &= 0. \end{split}$$

Consequently;

$$\phi^2((\nabla^H_W R)(X^H,Y^H)Z^H)=0.$$

References

- [1] Asanjarani, A. and Bidabad, B., Classification of complete Finsler manifolds through a second order differential equation. *Differential Geometry and its Applications* 26 (2008), 434-444.
- [2] Bao, D. Chern, S.S. and Shen, Z., An Introduction to Riemann-Finsler Geometry. Springer-Verlag, New York, 2000.
- [3] De, U.C., Shaikh, A.A.and Biswas, S., On ϕ -recurrent Sasakian manifolds. Novi Sad J. Math. 3 (2003), 43-48.
- [4] De, U.C., Yildiz, A. and Yaliniz, A.F., On φ-recurrent Kenmotsu manifolds. Turk J. Math. 33 (2009), 17-25.
- [5] Peyghan, E., Nasrabadi, H. and Tayebi, A., On *φ*-recurrent contact metric manifolds. *Math. J. Okayama Univ.* 57 (2015), 149-158.
- [6] Prakash, A., On concirculary φ-recurrent Para-Sasakian manifolds. Novi Sad J. Math. 42 (2012), no.1, 81-87.
- [7] Takahashi T., Sasakian φ-symmetric spaces. Tohoku Math. J. 29 (1977), 91-113.
- [8] Tanno, S., Isometric Immersions of Sasakian manifold in spheres, Kodai Mathematical Seminar Reports. Department of Mathematics. Tokyo Institute of Technology. 21 (1969), no.4, 448-458.
- [9] Yaliniz, A.F. and Caliskan, N., Sasakian Finsler manifolds. Turk J. Math. 37 (2013), no.2, 319-339.

Affiliations

NESRIN CALISKAN

ADDRESS: Department of Mathematics and Science Education, Faculty of Education, Usak University, 64200, Usak-TURKEY

E-MAIL: nesrin.caliskan@usak.edu.tr, caliskan.nesrin35@gmail.com

ORCID ID : orcid.org/0000-0002-3189-177X

AYSE FUNDA SAGLAMER **ADDRESS:** Department of Mathematics, Faculty of Science and Arts, Dumlupinar University, 43100, Kutahya-TURKEY **E-MAIL:** aysefunda.saglamer@dpu.edu.tr, afundasaglamer@gmail.com

ORCID ID : orcid.org/0000-0001-5162-6378